HHxeHep-KOHCTPYKTOp

HuxeHep TexHosor

CorJracoBaHo:

IlepeyeHb OCHOBHBIX JAETAJEH M V3JI0B

ITerpos B.I'.

ra30HOKOCHJIKH PYYHOM

aaexTpuyeckoii 'PI-1,7

Yr1Bepxaao
TexHuyecKuil AUPEKTOP

(13 2

AnucenkoB O.A.

Pomanuyk A.C. 2015 r.

Io3. HanmeHnoBaHue KoJ. 32 TpyOka 3ammTHas 1
1 Iaiika M10L 1 33 Bunr (camopes) 4x7 2
2 DraHel| BHENIHUH 1 34 IacTHHA OPHKMMHAS 1
3 Hosx 1 35 Bsikiogarens 250B 6A 1
4 Dnanen 1 36 Iomypydka 1moJ1 BEIKJIIOYATENb JIEBas 1
5 DraHel BHyTpEeHHUH 1 37 Bunr (camopes) 4x14 8
6 Bunt M5x10 S 3 38 [Tosrypyuka noj BBIKJIIOYATEIb ITpaBast 1
7 drnaHen mpUIE3AIUTHBIA 1 39 [onypydka mpasas 1
8 Bobwuna B cOope 1 40 [ITanra KpemIeHus pyKOSTKH 1

8.1 | Kopmyc 606uHbBIL 1 41 [Monypyuka jieBas 1

8.2 | IlaiiGa @ 16 2 42 XKecrkuii Ban 9x626MM 1

8.3 | lpyxwuna koumdeckas 2.2 L=59 1 43 Bunr M5x16 4

8.4 | Karyuika 1 44 Inuunens 1

8.5 | Koxyx 3aluTHbIN 1 45 [Inonka (3x3,7x9) 1
9 Penykrop B cbope 1 46 Kpeiika pegykropa 1

9.1 Koumblto cromopHoe BHyTpeHHee ¢ 32 1 47 Bunat M4x6 2

9.2 Inungens 1 48 TTogmmnuuk 6000 RS 10x26x8 1

9.3 IHommmmauk 6002RS (15x32x9) 1 49 CromnopHoe kKoJbiio @ 26 1

9.4 | Koneco 3ybuaroe Z=20 1 50 Koneco 3yduatoe Z=29 1

9.5 | Hogmunauk 6000RS (10x26x8) 1 51 CromnopHoe koJibio @ 10 1

9.6 | Kopnyc peaykropa 1 52 Kopmyc neBblit 1

9.7 | Buar M6x10 S 1 53 Bunr (camopes) 4x16 7

9.8 Buar M5x12 S 1 54 Haxknanka neBas 1

9.9 | Buat M5x25 S 1 55 Bunt (camopes) 4x12 3

9.10 | Ban-mecrepns Z=15 1 56 Bunt (camopes) 5x75 2

9.11 | Mogmmmauk 609RS (9x24x7) 2 57 Toammmnauk 606RS (6x17x6) 1

9.12 | Koo cronmopHoe BHyTpeHHee O 24 1 58 Koneco 3y6uaroe Z=16 1

9.13 | Kosspno cronoproe @ 10 1 59 [nonka (3x3,7x9) 1
10 BcTaBka koxkyxa 1 60 3arymka pe3uHoBas 1
11 | KoxXyX 3alIUTHBIHI 1 61 Kopnyc peaykropa 1
12 [llTanra HUXHIA B cbope 1 62 Hommumnank 6097 (9x24x7) 1

12.1 | Huxuss mranra 26x770MM 1 63 SIkops 1

12.2 | 3akienka 1 64 TTogmmmaunk 608RS (8x22x7) 1

12.3 | Kponiureiid 1 65 Brynka @ 8 1

12.4 | TlnacTuHa — Opy>KKUHA 1 66 Cratop 1

(IT0Ka3aHa yCcIIOBHO) 67 Brok masHoTO mmycka (8A, 230V, 50Hz) 1

12.5 | 3akienka 1 68 Jpoccennb 1
13 Bunt M5x16 S 2 69 Konzencarop (0,33uF; 275B) 1
14 Brynka (mnactuk) @ 22,5 6 70 ®dnanen 3aIHAN 1
15 XKecrknii Bant 8x785MMm 1 71 [IleTkoaCpKATEND 2
16 | Brymka npuBOHOTO Bajga 2 72 Ilerka (7x11x17) 2
17 | @ukcarop 4 73 Bunr (camopes) 3x7 2
18 | Buar M5x20 1 74 BenTuisarop 1
19 | BeraBka npoOyHIMHEL 1 75 Iajixa M8 1

20 | Taiika M5 1 76 Inyp cereBoii 2x0,75 L=0,4m 1
21 [TpoymHa ISl KPETUICHUS] pEMHSI 1 77 TpyOka 3amuTHas 1
22 | Bunr 3axuMuoil M6x22 1 78 Bunt (camopes) 4x8 2
23 Bunt M6x20 S 1 79 [InacTiHa npuXKUMHAas 1
24 KpoHIITENHH KpelieHHs IITaHT |’ 1 80 Kopnyc mpasblit 1
25 | Bunr (camopes) 5x8 1 81 Haxknanka npasast 1
26 Bepxusis mranra 26x660mMm 1
27 Bunt M5x25 S 6
28 KpoHnmrreitn 1
29 HuxHuil KpOHIITENHH KPEIUICHUs 1
PYKOSITOK
30 BepxHuii KpOHIITEHH KpEIUICHUS 1 Tasonoxocmka
I'pP>-1,7
PYKOSITOK
31 [IItanra KperieHus: pyKoSTKH 1 Tuer 1




T"azoHOKOCHIIKA
I'PD-1,7

JIuct 2

[59 56




